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1) M0 wmeEE 2024 R FOWORAT TENT TELINTI), L. TFN eRTH FOOIRT
OITNTIY, Qﬁoﬁ%mfé. (Read the following statements related to Grammy Awards

2024. Choose the correct answers given below.)

. 320 [OBT VIT° TR, FRTLY VET ToFT WEPTRACIR, MOONT J0FT°
TVTITIET, LD TTT MR TORMRETPOT ) FoYews, FTOOZ JONBCS
QTOORNRTT KD 8 5 LT SO @8&3 TBINGTY, 2024 TROT. (Tabla player
Zakir Hussain, Flute player Rakesh Chaurasia, Singer Shankar Mahadevan, Violinist
ganesh rajagopalan, Percussionist Selvaganesh Vinayakram totally 5 Indian Won

Grammy Awards 2024.)

2. pRTSOD PRTT FONESOTT FOTT ‘38’18 2024 T ORID WNST FONCS
BYRT TJAODHIY, ‘OF BRI0EF’ MoN JeE@ed. (“Shakti” a fusion music group
of Indian musicians was given the Best Global Music Album Award of 2024 for

‘This Moment’.)

3. BLD wTF WETT TR 2024 TY 2.td) R & TIANTI), TEOTT.

(Tabla player Zakir Hussain has won three Grammy Awards in February 2024)
a) 1 Only Correct
b) 1 and 2 Only Correct

c) 1 and 3 Only Correct

d) 1, 2. and 3 are Correct



2. DO WHTYOD BDOTIT 85 FINT 030 TewTOIN FOC3WNY (Which of the

following statement about Khalistan movement is not correct)

a) BT LTI WD TTESNYTY, WITROT AON TIes 5eTT Lde@FOIPNT (It

is the demand of a separate country for Sikhs covering most of India)

b) BTTRT wRAT" DO TIeTONY ébdac(ﬂp ZrR0R Fo03TF ETEO3PNT

(Operation Bluestar was an operation against Khalistani separatists)

c) 98edR DTBTYTT TS0 TeoeRT BeieonY 20edd DO 302ONT
VTSR ézsauﬁd (Recently there has been an increase in attacks by Khalistan

supporters on Indian embassies abroad)

d) o23es® MPOQRCRTT 53;’3053: B3 IRDTYCL NN, (Assassination of Rajiv

Gandhi was part of this movement)

3. 30T WYERT N W) owdd FoTANG LRRODY CIPIHT FOBPNY.
(Which of the following is incorrect in the pairing of technology applications and
supporting companies?)

a) Alexa - Intel
b) Gemini - Google
c) Siri — Apple

d) ChatGPT - OpenAl



4. RRETETTNT TTHIOED oMoy m@ﬁd 3w IT@@%CSQCE? (In which state Gorakhpur
nuclear power plant is located?)

a) 0BT ez (Uttar Pradesh)
b) ©&o0 (Bihar)
c) Oc3zee? (Haryana)

d) m%m@@ (Rajasthan)

5. @%C% BTOFEITT TICTOOORNRLD T TITQTT SONY 22RRODY 03T

ROOIPNY (Which of the following pairs of famous Karnataka temples and adjacent

rivers is incorrect?)

a) ﬁaéﬁ RWEY — BPTGTY (Kukke Subramanya — Kumaradhara)

b) 3RLRT TwTONT - 3oewe (Kollur Mookambika — Sharavathi)
c) JOried ToTTRoe3 ~ 20 (Sringeri Sharadamba — Tunga)

d) @mrge‘s TV0LVTG — 3¢ E (Dharmasthala Manjunatha — Netravati)

6. TR LRTIBYTT ToRNH 0B FeOmRRPT J3eINY F050d, (Number of

States and Union Territories in India at present,)

a) 28 TDotgMisd, TBOCR Fed 9 FeomRES TTIeINed (28 States, 9 Union Territories
including Delhi)



b) 28 Tensh, BTOke Fed 8 FeormEes TFeanwd (28 States, 8 Union

Territories including Delhi)

c) 29 TN, BHAW Fed 8 FeompREeS TTeIND (29 States, 8 Union Territories
including Delhi)

d) 27 Tozgnish, IO Red 9 FeormBYS TeIND (27 States, 9 Union

Territories including Delhi)

7. BIFUTT WYNY TR B BYNY 22ReRODY 03D FO03NY (Which of
the following pairs of Food Bowls and Districts of Karnataka is incorrect?)

a) 8 — To0dBRT (Paddy — Raichur)

b) 3PN0 — 320200N (Tur Dal — Kalaburagi)

c) AZT — L3¢ (Sugar — Belgaum)

d) 2ece — TR0 (Jowar — Haveri)

8. 8% TYNT ATIPCRNAL/STYIONLD DB WVTFeING OO CIPI AADISZIOWNY)

ROOIPNY (Which of the following pairs of conventions/protocols and their objectives

is incorrect?)

a) Minamata Convention — ©T0HT0 SRINY HTOFFNY (Minamata

Convention — Harmful effects of hazardous metals)

b) Kyoto Protocol -~ TRDIT IO BHTBHARDTODTY, 3RE =P (Kyoto

Protocol - Reducing greenhouse gas emissions)



¢) Montreal Protocol - 8,830 STTBI), BRTY [RWE IRINEG 3065 0BOFe.

(Montreal Protocol - Control of substances that deplete the ozone layer.)

d) Ramsar Convention — 2P10 33N Bodgss (Ramsar Convention — Conservation

of Wetlands)

9. FINT TERENENY DTWODTON 03T TePFOIN FOOINGY (Which of the

following statements regarding age limits is not correct?)

a) tRY, VIT — POT 18 BREYOT TR ) R 21 BHREZO 38 (Child

marriage — Girl less than 18 years and boy less than 21 years)

b) (RO FNFT — AWRZON 14 B[HE, WTVORFO md@seﬁ 18 SRF02 TR
(Child labor — usually 14 years, hazardous work below 18 years)

c) LPLRTTRR — 16 00T 18 [HEEOS 3RX (Juvenile — below 16 to 18 years)

d) oo 270 @goy (NEP-2020) - 6 Sc¢ <xeg (Early childhood education
(NEP-2020) — for 6th year)

10. gRTIBHTB DT, TS T FCOTRTYS TSN FTIVPONTY), BROVS.
(How many states and union territories in India have coastlines?)

a) 10 ooz isd ) 5 Feorpmes Te3nwD (10 States and 5 Union Territories)
b) 9 TR WHFY 5 FeoTRWYS TT3eINH (9 States and 5 Union Territories)

) 9 TN W, 4 FeommRREYS TWe3nw (9 States and 4 Union Territories)
d) 8 TRz W) 4 FeorpBYS TTe3Tsd (8 States and 4 Union Territories)



1. 3T0FE33T o3 AONR HDOTHT BOCIPNYT TePTODZY, OISR (Identify the

incorrect statement about air transport in Karnataka)

a) TROFTHY 2 WOBT Uo%eodo VTP AeRen®sS (There are 2 international
airports in Karnataka)

b) dT[RANT JRTT DB[IT TP FeD FFWITY 7 TS0 DB[IT JTYLANYES
(There are 7 domestic airports in Karnataka including the new airport at Shivamogga)
c) B¥MR, ETT” W) LONROTY T QRS K0T D[PT ICYENYI
(There are airports belonging to the Department of Defense at Belgaum, Bidar and
Bangalore)

d) FRFEFRY ceR)Te BN DTNT dOYNPYY (There are no private airports

in Karnataka)

12. eosor® %ﬁﬁ@oﬁs OO BOOTPNYT TeYTONZY TOTOSA. (Identify the

incorrect statement about banking system.)

a) SBI T3¢303 ©8TRF Towor &IT BOONT t3yos* SN (SBI is the largest public
sector bank in the country)

b) HDFC T3¢30 288308 a308N [0oDT aplely NS (HDFC is the largest private
sector bank in the country)

¢) NABARD g&n StSeen mo wanms o <Nt (NABARD is a direct

lending bank for agriculture)

d) MUDRA 7eg @0Q0Non mo w3Nz0® %wﬁ@OSTOﬂd (MUDRA is a loan scheme

for small enterprises)



13. 3Z0Fe3E Tozy Q68 W o3nexTo sadnent’ (KSPPC) 300300 030e 9T
R003PNY (Which statement about Karnataka State Policy and Planning Commission

is NOT CORRECT?)

a) QW TS NITI SodRnT TRTOONY FOT [R@T FTFess oo
ﬁoﬂ@oﬁmﬁd. (It is a Karnataka state body on the model of the country’s NITI Ayog.)

b) BT TR YeRSOD TRYOBY TONFATTLIIT (It functions under the

Finance Department)
c) m&%mo@o&wm QT m%%mﬁ&@ﬁ (It is headed by the Chief Minister)

d) ageesn, "ees VT RLIRET TR0 LR PRFRT OF Ferws (SITK) o
TIVFWT Oozy S T BRI SO3REN DO TVTPRITTED [WRHRNT.
(Recently, ’State Institute for Transformation of Karnataka’ (SITK) is renamed as

Karnataka State Policy and Planning Commission.)

14. 239188 30TANY CEO 0T 0T T m%%@d 2ReloDY YN 030w
22RO F003eNY (Which of the following pairs is not correct in the pair of CEOs
of global companies and heads of Indian origin)

a) [BRETT, — FTY IR (Microsoft — Satya Nadella)

b) @Ug&ﬁ@? - AOTT® W3 (Alphabet — Sundar Pichai)

¢) IBM - Z303 s020®x° (IBM - Vasant Narasimhan)
d) Adobe - 3030 TPTuC3WT® (Adobe — Shantanu Narayan)

15. BRFTT B3 FENT OS0= %Z%do T, BReN 3%@6% (Which of the following

doctors in Karnataka is not a cardiologist)



a) @. dwOR 3¢ (Dr. Bhujanga Shetty)
b) @o. W.00. I (Dr. B.M. Hegde)

C) . A. AT oTR* (Dr. C.N Manjunath)
d) ceo. dedded (Dr. Devi Shetty)

16. @o. & 3BRO TONT® ©ST BOD 85 TYNT 00T TePIOIN B003@NY (Which of
the following statements about Dr. K Kasturirangan is not correct?)

a) ISRO ms%x@mﬁcgm (Headed ISRO)

b) TJFLT g}pﬁ Slew¥olvate m%z@mﬂ%m (Headed the Karnataka Knowledge
Commission)

c) NEP-2020 T 30@ R80D m&%ﬁ@mﬁ%& (Headed the Drafting Committee of
NEP-2020)

d) Wy FYNY 30=0 TOedIT BRSO RRTW OFFON, [T JeRTTL

(Reported as the first Chairman of the Expert Committee on Western Ghats)

17. 38 3¥NT CIPTW HTOODY LPTITY T O STONT, W& THeF) TRLIN DT
FOoNHNT? (Which of the following sector is contributing highest in Indian
National Income?)

a) ?33383% BJ©0D (Quaternary sector)
b) %écoﬁa =0 (Tertiary sector)
c) §2e0d WOOD ((Secondary sector)

d) TRFENT BOCH (Primary sector)

18. 8N O3 TRTY 98 B3R DoNoRTSNT? (Which among the following

states has the lowest Sex Ratio?)



a) 3ooFrw3 (Karnataka)
b) TOc3ed (Haryana)
c) 83 Z3ea (Uttar Pradesh)

d) $ed womed (West Bengal)

19. 5ROBEY BeoT FRTHBLCHIY, I D AODOGRITH? (Which agency

regulates the money market in India?)
a) $o038 AT (The Government of India)
b) sedey, oBNs (Commercial banks)

€) ZRTSCCL OXTFE @305 (Reserve Bank of India)

d) S0edT cIyEe © (None of the above)

20. T Boor Ty ST TR FrwE OSRCENODT 0IEmRN WERMO0E D
TIHORRETIN PFOATI? (When did the Government of India extended the Kisan

Credit Card Scheme for Fisheries and Animal husbandry?)
a) 2015-16\

b) 2018-19

c) 2017-18

d) 2020-21



21. IINT[NYY 0SPPT Fe0T TFFTT WQ3F dzgw e0e) &NT3? (Which of the

following is major Expenditure expenditure item of the union Government?)
a) WRTRE SN (Interest Payment)

b) FZONFINE(Subsidies)

¢) &023¢3 (Pension)

d) o3 &Se3(Defence Expenditure)
%) b

22. 83 3PNT 030 LeeROIN 339N (Which of the following pair is not correct?)
a) N0 AT T3 (M N Roy)- =330 A8wexd (People’s Plan)
b) &0 To0ed (Shriman Narayan) moofe odees(Gandhian Plan)

¢) ST (Nehru)- ZZpemed: cdnemS(Sarvodaya Plan)

d) 8 TJND ¥TE %ﬁg@d& (8 leading economists)- 230023 Adeess(Bombay Plan)

23. & IYNIT o So:”éom $OTBTY TOTOR ?g}dé BTHCHT, (FSR) TBEIROTT?
(Which of the following institution publishes the Financial Stability Report (FSR) in

India?)

a) LTS OXTFE @305 (Reserve Bank of India)

b) 0T WY 2T oo W@ E CFT QoROI® (Securities and Exchange Board

of India)
C) $OTIT %mm esaden (Competition Commission of India)

d) NITI sscdmer (NITI Aayog)



24. 293 Be3o3N D[, BRWRZLH? (What does Phillips Curve indicate?)

a) TEOTHWT T &dodraﬁcﬁd ST Ty Wowey (Inverse relationship between

inflation and unemployment)
b) ST0H ©9REPSS (Income inequality)

c) 301 TTMLL DB B071 BT HeTT IWNT FowOE (Relationship between tax

rates and the amount of tax revenue)

d) QATCH BT, WOBMTT TOF) &0 @odag Aewy @mt% S3OB ;’gp@ (Impossible

trilemma of exchange rate, capital flow and autonomous monetary policy)

25. TE0THYTT THOONTY), TRHLD WNFIT W BT eS0T, TEITRD e FNS
(MPC) 2GFORET. & BOTHFTY, SHFFZ0DY TEITNYTNYITT/IY, VOVOZHED
MPC 20T 88 IINIZYNYY SITY, ST 3508emcd?(The Monetary Policy
Committee (MPC) determines the policy interest rate required to achieve the inflation
target. In this context, which of the following may be recommended by the MPC to
control deflation in the economy?) FYNT T ¥ FOIRT YVITIZY

Slewinvoie)
1. IR QT WTVTBTY ézg%? (Increase in Cash Reserve Ratio (CRR))
2. ©ROT TITY %?,g%f (Increase in Bank rate)

3. OBTF T BOTY @9E (Decrease in Reverse Repo Rate)



Select the correct answer using the code given below.
a) 1 and 2 only

b) 3 only

c) 2 and 3 only

d) 1,2 and 3

26. zRTIT TATL 703 ©ZOZ 0DIZCIPNTY (Indian Green Revolution is most

successful in)

a) JORL® HT TOCe? (Panjab and Haryana)
b) TOOIED B Toredd (Haryana and Karnataka)
c) TOET B Toredd (Panjab and Karnataka)

d) Forudd WY WY o (Karnataka and West Bengal)

27. SReERLICD ALBTTR FOWOHATOZ 3 FINIYNTY
03 FBeYINT BOONI?  (With reference to the Speaker of Lok
Sabha, which among the following statements is/ are correct?)

1. Sz ATAT OQFIOND W) FROINY TFF 0D Tonedgwendess (He is

considered to be the guardian of powers and privileges of the Lok Sabha members)

2. HBW FORET TR ATING WO WH[ESI[T @c;géosmal BRI (He

presides the joint setting of the two Houses of Parliament)



3. TDRPTCIN T WRBRTWONE VT WYE DOLTIY, FFORZYT (He decides

whether a bill is a money bill or not)

4. BFOZTT WHOTT o0 SRET AL RTHT @55?3"03353& PFORZYT (He decides

disqualification of member(s) on the ground of defection)

S0eIIYNYOT FORT BOENT SOA (Select the correct option from the codes

given below)
a) 1&amp;2
b) 1,3&amp;4
c) Only 3

d) 1,2,3 &amp; 4

28. B3 HOTHFTY, LeDFOIN 2OTN RN NOTD BXO BRETF JDFF TN WRTYOD

5%63 (In which case, the Supreme Court specifically opined that Preamble is a part of
the Constitution?)

a) 2300200 ORWRAOCNT® ©FTee (Berubari Union case)

b) 33T TS TFoee (Kesavanada Bharati case)

) NTTR () TV (W) Both (a) & (b)

d) SoedT cIy@e © (None of the above)

29. o, W FOTRBYT TJHEBNOT FOLORATOZ O3REE AROLTIIT STRTH

Uouéri@:)ﬁ ARTIVITION B %ﬁsé%mﬁ &OTVPT BRAFNTTY TOTVETLD TTE WHTT



QeRT? (Which Constitutional Amendment again provides the States the right to
specify the socially and educationally backward classes in relation to a state or union

territory?)

a) 101 S¢ SZ& (101st Amendment)
b) 102 e 3RFI&@ (100nd Amendment)
c) 103 Je¢ SRH& (103rd Amendment)

d) 105 S¢ SIR (105" Amendment)

30. IINTPNTY CINT ROLRS HTZY TOREOD B0 m%@ AORTY BT
BFPTDRRLZCMRYOY? (Which of the following Fundamental Right cannot be

suspended even during National Emergency?)

a) WIS 1R a:joﬁaéa’ @30%{5 w5y (Right to life and personal liberty)

b) ZPTIT LRTTED wert TN BT ®®), (Right to move freely throughout

the territory of India)

c) Te3T cIPPTE LRNBY AR 0T ISAE Y, (Right to reside and settle in

any part of the country)

d) oSo)se WYERT T 33 0NTY %m%ga &3, (Right to carry on any profession

or business)

31. ZP0TT WBFEPRT, DT T BRORZONT), 2§PROLD Y T "
DT CRTTY [RBFOOT DOFHCINT. (To uphold and protect the

Sovereignty, Unity and Integrity of India" is a provision made in the)



a) BOVTRNT TR (Preamble of the Constitution)
b) Toz QeE0D JTer T3 3gnsd (Directive Principles of State Policy)
C) DDROLRI 5%%71%30 (Fundamental Rights)

d) TRVPRS %3?% (Fundamental Duties)

32. 39DYT TYOIPOONT AT VT TSR TBREH, QYN O30 08 W),
QT TROT dcﬁa@ﬁ,@@mwﬁads (The decision of an inferior court or tribunal can be
quashed when there is an error of law, by issuing a writ of which of the following

nature?)

a) d&%océmﬁe (Mandamus)
b) RIS (Prohibition)
¢) BEe3eTO (Certiorari)

d)ciexyce @ (None of them)

33. 3INT OARBONY CIPYT TWTILNY STWYTIE WHTONOT FOWOHATI?
(Which of the following Schedules is associated with the items falling under the

governing power of municipalities?)
a) 113¢ &0z (11" Schedule)
b) 53¢ RS (5™ Schedule)

c) 63¢ IR (6™ Schedule)



d) 1283¢ wHzEes (12™ Schedule)

34. 03303 FROWTIONTY, T LPTITY FEORLTTET O

TOBHIOTD  TONESHeRNT. (Which act was considered the final step towards

centralization in British India)
a) SrRSLoN” 50T - 1773(Regulating Act 1773)
b) 2&F voReI® &F - 1784(Pitt’s India Act 1784)

¢) WS’ & -1833 (Charter Act of 1833)

d T &7 -1853 (Charter Act of 1853)

35. 0TS0 FONTHIT OIRm RO TST  WBTowmw  HSodRens z@pﬁéﬁ
F0WOoHAT? (Which article in the Indian Constitution is related to the establishment of

the Election Commission of India?)
a) Article 324

b) Article 148

c) Article 342

d) Article 325

36. gTEECD FORD) ¥TiRORTVFYTH (Indian Parliament consists of)



a) S0esRy =23 (Lok Sabha Only)
b) sz%ﬁaﬁ =398 (Rajya Sabha Only)
c) SRR B Uotﬁeﬁ 23398 (Lok Sabha nad Rajya Sabha only)

d) Sresxys, cm:sms 02 vFIS (Lok Sabha, Rajya Sabha, and the President)
=

37. 2023-2489 TR BSNYY IDFWEE SCD STONT WO 84 %@ﬁ&@ﬁeﬁm@l
Loneda (Consider the following about per capita income of Karnataka at current prices

in 2023-24)

a) TIVFELITHS IO CTRONY VDO FPTZ ILo BHONIOZT AWTIT 40% éaszadﬁcﬁ
(Karnataka’s per capita income is higher than All India per capita income by around

40%)

b) FIVFLITT IR BHRONTY) VDO FPTT I STONEOT WTEPNT (Karnataka’s per

capita income is double than All India per capita income)

€) TIRELITT SO0 SWONT) VDO RTS IR STRCLIOT WL 80% @aagmﬁ
(Karnataka’s per capita income is higher than All India per capita income by

around 80%)

d) 3TRFEITT T STONY) WD {PTT TP BTONFOT TR ey ézgcﬁ

(Karnataka’s per capita income is three times than All India per capita income)

38. B3 FYNT O3 208 eSO TR TTOFe3BTY FoODFATFLAET (Which of the

following IT policy is currently working in Karnataka)



a) IooFB 088 e 2021-26(Karnataka IT Policy 2021-26)
b) TDFLT 083 e 2022-27(Karnataka IT Policy 2022-27)
c) BwFE3B 083 e 2023-28(Karnataka IT Policy 2023-28)

d) FTerT 2083 e 2020-25(Karnataka IT Policy 2020-25)

39. 3-837° FOWT SF° FFST ST QOWIFET i ROy (IoT) ©), 83 IENT
OIRPTT BB BRENTRONR m@&%’mﬁd? (K-tech Centre of Excellence on Internet of

Things (IoT) established in association with which of the following?)
a) 2020083-3oneeTV(IIIT-Bengaluru)

b) =ezo (NASSCOM)

¢) [IM-gdonsedd (IIM-Bengaluru)

d) IISc

40. IJ0FL3IBT d@ﬁ TOWORATIOZ O30wm TZePINED FOOSPNI? (Which of the

following statements are correct about exports from Karnataka?)

A. TOREOD T 200N M ReT” s TLTY Fmoreds 1 ¢ m@éd@d
(Karnataka ranks Ist in Software Service exports in the National export basket).
B. 0903 T eotdodY wuINY SYsQ smoress 3 Se m@ﬁd@d (Karnataka

ranks 3rd in Merchandise exports in the National export basket).

a) A only

b) B only



c) A and B only

d) Neither A nor B

4]. 20000 SR C3RCKN/THOS 0 I 5o Adrend I8 odeeRs— 9

(Indira Awas Yojana/Pradhna Mantri Awas Yojane housing scheme is for—?)

a) WEIT SeBNOT FPNTLT MRNED THROWYT BotdoW (Rural houseless household

who are below poverty line)

b) DT R/QTFLINY MYLNerd 0 INT TR FFOWYT Be0wn<h (Both rural and

urban houseless families of SC/ST’s)
€) TREED FTLT Fu Be0wNd (Rural houseless agriculture households)

d) Gseen DTOWEITTIL, NIF[FOWN YTYHD VTR [T, FeOT MYeed I INT
BBET&S 23T (Both rural and urban houseless people belonging to special category

of physically challenged, leprosy etc.)

42, FSNT 03T BePINH BOOSPNE? (Which of the following statements are correct?)
A. BIFEITY GRTTT YT TR Uo&smﬂd (Karnataka is the seventh largest state in
India)

B. @ 2011 3 &3ncedodd TFT 39.27 % INT 8635035;30.“))?}3&\ BROKT (It has 39.27 %

of urban population as per 2011 census)

C. 3JFEITT INOCTTEDTR) 2}7@63%&03 @?Szad (Urbanisation of Karnataka is much more

than that of India)

DT TePINTY 030y BOOINE ?Which of the above statements are correct?

a) A only



b) A and B only
c) A and B only

d) All

43. 368 Ty ClReRFHoDI) TETY BeTY WO IQ FRARDED? (Goat

milk project is being established for the first time in the state at ?)

a) SHTOIIOT (Madalapur)
b) Senend (Hogalagere)
) ©3e3e3 (Anaberu)

d) D&FS (Madhikere)

44. 3WVFLT BFFOT LRONY ATHTO CIRERINY F0T WTYTE, AT, AN
m@&ﬁ@aﬁd (How many corporations have been set up under the Government of

Karnataka for speedy implementation of irrigation projects)
a) 4 JN® (4 corporation)

b) 3 ANID (3 corporation)

c) 5 AN (5 corporation)

d) 6 AN (6 corporation)

45. 15 00T 5003ReNT IIIT BRRTERODN C3REBINTT), Tozy, DWW DT Moy
30 N8 (SLSWCC) oS0 @z%géodag 3oRRRYRZT? (Projects with investments



between INR 15 to 500 crores, will be cleared by the State Level Single Window
Clearance Committee (SLSWCC), chaired whom?)

a) ToOFeT TTET, ?%53‘ DB dsc%d: TR %m@@n’%f %233 (The Minister

for Large and Medium Scale Industries, Government of Karnataka)

b) ¢RTS ATFTT TS R ZDCS?SZD TRIRT %m@@ﬁ%ﬂ %2830 (The Minister for

Large and Medium Scale Industries, Government of India)
c) ms%mog (Chief Minister)

d) TeTR B8R, Ioeredd FFeT (Finance Minister, Government of Karnataka)

46. FIVFLTT 08 TWTFFNR FOWOHATOZ 85 FINT THeYINIIY zoneda Consider the
following statements with respect to IT Park in Karnataka:

A. KEONICS 3703309 80t8 T rny omdamgsy, Sneme 0iosmn (KEONICS
is a nodal agency for implementation of IT Parks in Karnataka)

B. 370F W3 AT Ty OomTorios 4 0w TFENYEY m@&%cﬁ (Government of
Karnataka has established 4 IT parks across the state)

3063 VeBVT B3 FENT O3 BePIN BOCINIP(Which of the following
statements given above is/are correct?)

a) A only

b) B only

¢) Both A and B

d) Neither A nor B



47. 83 FINTRTY 0IRTD "535363@@ 2,000 I, 20T 23S R mgjﬁe ez "
O %m@ossm& 32eHATIT? Who among the following preached the doctrine of

“One religion, one caste and one God for mankind”?
a) ¥Re8em TS (Jyotiba Phule)
b) QFeFI0T (Vivekananda)

c) &¢ TRTROMEY ™Sy (Sri Narayan Guru)

d) @o. Q. 8T, ©orke’ds® (Dr. B. R. Ambedkar)

48. 83 BYNT 0INPYTTY RBRT 23007 QST TFor Txy) 4Fo08e0NT " BRUAODT®
BTZY,' TOT0SAB (By which of the following for the first time, British government

recognized the “Right of Dominion™ for India?)
a) ONx FRERT (August Declaration)

b) S odeexs (Wavell Plan)

¢) 3%° X (Cripps Mission)

d) Swoedne TeeRs (Montague Declaration)

49. 3INTR[OY oI "TON0T WABFTIT" T LIONWYT VTN MOLONTT e
BIT TRy BROVT (Who among the following has written the “Civil

Disobedience” that had a profound impact on Gandhi?)
a) a8 &R 03" (Leo Tolstoy)
b) %" ST (John Ruskin)

¢) B KT E (Karl Marx)



d) R Ber® Frecdnee (Henry David Thoreau)

50. 1920 3Q s QORI® LT CRRICT” TONT' S VATO WR[EIIT BFTI
B&ATITO 0330309 (Who presided over the first session of the All India Trade Union

Congress in 19209)

a) TTH PSR Toa" L30BT" (Purshottam Das Tandon)
b) ceee ©EIS® Tocss® (Lala Lajpat Rai)

C) BRPLDFCF QEQT%OJSG (Kasturbhai Lalbhai)

d) Reed0T® WYL ©oe® (Govind Vallabh Pant)

51. YRR %’OW@S BWRIT SBYIT, we¥mNG eRRH 8.3 (The period when the

Mysore state was under the commissioner’s rule was AD)
a) 1831-1881

b) 1821-1881

c) 1813-1818

d) 1831-1891

52. RRFEE SO %N (The Forward Policy was)

a) REE HTSO® %gré# Q¢d (an educational policy of Lord Macaulay)

b) @@8@3@ BOORAT V3T 68 (the British policy pertaining to Afghanistan)



C) TORETE RPT T TowseD FoONFIR (the political programme of "Forward

Bloc’)

d) ¢RTEONT BoNeETEdT Ved (the policy of anglicisation of Indians)

53. 033 Buoerd, BOmLRBODGONT TR, TTPN BYBRTO TorB3Y TN

832003092 (For which disease the vaccine was first introduced in Mysore state?)
a) Rerv (Plague)

b) 52T (cholera)

) SNBeOOD (Malaria)

d) 2% (Smallpox)

54. 0303 3eZITY INT BORORNT), WBNBGROND? (Under whose leadership was the

urban rebellion concealed?)

a) 387 2. n° (Colonel J. Briggs)
b) 3ZF %@i@meﬁs (Colonel Barryclos)
¢) 335" 0= (Colonel Harris)

d) 337 3% (Colonel Smith)

55. “2.0 Ted WHYBO" 0 WB TAFTT BTN AR CIRYTE
F0WOHAT? (What is the most famous medieval stotram "Om Pani Vadmaham"

related to?)



a) &eI03s (Heenayana)
b) JToc3S (Mahayana)
¢) JIREIF (Vajrayana)

d) &3 FRF (Jainism)

56. 36T BOF,,B03L00T BCTORLRME BN (Pots identified with Vedic

culture)
a) B 29T BoLWOF (Saffron colored pottery)
b) 2T e BOLOT (Gray pottery)

¢) T SeT LRTL BoowdF (Color Coated Gray Pottery)

d) 3 BB oI 2EQT B0w0F (Black and red colored pottery)

57. RTJeRd %5%033@ "Ho0" 02 T[T Feedo3n mmol mwmgd ? (What does the

term "Sawar’ refer to in the Mansabdari system?)
a) WTLRTI F008% Jeed (Personal Rank of Mansabdar)

b) ITeTTI SeWABLOW WO FTF AT (Armed soldiers recruited by the

Mansabdar)

€) SOTIRUT NHeRABROR oW XIF ©FTRKNE K05 (Number of armed
~nN Q :5

cavalry employed by the Mansabdar)



d) STeRTI JEWAZTROT WOT WHTONY 50@% (Number of officers employed by

the Mansabdar)

58. TYONT BTTLODTY 'A%&%)CS RBRFS BRI 03 ? (Who was the Mughal ruler

who established the chain of justice?)
a) @?)6"‘ (Akbar)

b) weoNneT® (Jahangir)

C) W HRTox® (Shah Jahan)

d) &tonedees® (Aurangzeb)

59. Q2B pexy, OOCI? 28, VLN’ NFPHRT® LBRTNH" WITY FOB/W (Virji Vohra,

Malaya Chetti, Abdul Ghafoor Bohrawere some of the)

a) BB BRTT YRODNY BTN WHTONRY (Principal officers under Delhi

Sultanate)
b) 202305007 TogieRNIIT TN 3N (Prominent poets of Bijapur royal family)

c) é@édmmw AOTIYPKT T30 THMWTD (Prominent writers of Hyderabad

Empire)

d) SRFUT ROTY 30T sR#e0ns (Rich merchants during Mughal period)

60. QTT' FWIF, FOLOHATOZ O3 Bewd BOCIPNY? (Which statement regarding

the Battle of Buxar is not correct?)



a) 0ET° TACTZ SOT FTIROLSCIPNTLD L.BOTHTOOT WS IWoNB (Mir Kasim

did not agree to be a puppet of the British so the battle took place)

b) SRTTT TW & BRPOT 28¢ T SO0 WOMRYE ITOWTOT WCTTLRFTT'
Seodn FeieeRr $oRSRonR BB JATwRET: (Nawab of Awadh & 2nd
Shah Alam of Mughals joined hands with Mirzafar, Nawab of Bengal and

started fighting the English.)

c) BTITY TTETT IR, J¢FZ worjont oD@ (The English won the battle led

by Ha Manro)

d) s0R0nt oMY, WTVT® & .07 JWEBINE 20 i BRTOW (The British

gained control over the territories of Bengal, Bihar & Orissa)

61. e I =), T 11 JR0DR BRODX T TN JeRTVT BT NTI), LIVBLOW
ROCIRT YVITB/IY @oﬁ%ﬁm@ (Match List I wish List II and select the correct answer

using the codes given below)

Ty 1 Iy 1l

i o

D

A, @ &7 1 (Wood's Dispatch) L. ¢ 5%co (Female education)

ik

B. ‘Tat‘.caﬂf esodnen (Salder Commission) 2. TRDNT E}Ei‘a (Primary education)

3

C. moeirr =odnen (Hunter Commission | 3. [RGNE 3800 (Secondary

education)

D. Sed =cinen (Raleigh Commission) 4, &

Ch

wWTROCD ¥ (University
o

education)




62. QPYNTR), DXB/S FOTOS (B33707°) HINTOW 3TOHRNT. (These are called

equinox days.)

a) $PTUBTY TR ) TOGNTTHEHL T WIHONZY BROVTVE O (Days in

India are of equal duration both day and night)

b) TFoITRT0Z TR DT TeIRTYTTR T WWROLY BeONTLT JSND (Days

having both day and night of equal duration all over the world)

€) TR TOGNOT REFF T WBHONTY BHOVTI DI (Days having longer

duration than night)

d) o8 TRONOT QEFF T WTHODNZY BROVDTT HINED (Days having longer

duration than night)

63. 39NT LROIT TR FONYY BT FYAYY WRTDTONG FO 03PFT? (Which

0

of the following major rivers of India does not originate in the Western Ghats?)
a) 30290 (Kaveri)

b) %@a (Krishna)

¢) TR (Mahanadi)

d) RRetEO (Godavari)



64. SBTONT N YR ? (Where are the asteroids?)
a) FONY DB I NTNY TS (Between Mars and Saturn)
b) FonY DI e NHNY IWI (Between the planets Mars and Earth)

¢) SHONY HTY D ARNY IS (Between Mars and Jupiter)

d) M©$0IRTOS (across the galaxy)

65. 03303 SHOI BT R TR, DTE O Tt BRETVIT 2 (Which river

crosses the equator twice?)
a) sone (Congo)

b) K'é@"‘ (Nile)

c) K"gs&éce (Niger)

d) &n=" (Tigris)

66. TPT SR 02N (Mauna Loa is)

a) 23308 RERTndR wwmexSH (Example of a living volcano)

b) =T @smméi’)ﬁ VTR0 (Example of dormant volcano)

C) [T &g@oméﬁﬁ VTR0 (Example of an extinct volcano)



d) 20T 259eR0D0D TREBTOTT 28RN YT TH (Example of a pedestal

in a volcanic area)

67. 23RN0 SR FHETTNTIH 0TVFTED FOOD HOTVTORA ©Z08 TBRTTNTOI
WOONTITTN 20TRTEIT WOODNS TV gwﬂ@osmcz TEARROT BOOIRT
POZTTIZY Qﬁoﬁ%m&é. (Choose the correct answer that represents the orderly
arrangement of atmospheric zones, starting from the atmosphere zone closest to the

Earth to the zone furthest away.)
1. moEd 0T (Statosphere)

2. ©EReBPAONT® (Troposphere)
3. ©O3RZREAONT” (lonosphere)
4. WRREAONT (Mesosphere)
a)l, 2,3, 4

b) 2, 1, 3, 4

)3, 14,2

d)21,4,3

68. BT BJOD PORNLROON (Ted-1) VPYNVTOI g@ﬁ@;m& (Ted-2) BRODAD

(Match the wildlife sanctuaries (List-1) with their locations (List-2)



=g -1 (Wildlife Sanctuaries) e -2 (:"ét‘;’ﬂeéb) (Places)

A, o0 DHTCD oI l. &=551 (Shimoga)

(Talakaveri Wildlife Sanctuary)

B. 30038 ®3, ted) o 2. To%, (Mandya)

(Sharavati Wildlife Sanctuary)

C. oo ?Sét..‘ﬁ :Sﬂﬁﬁ".«.ﬁ Doz 3. E:‘:-gd E?QC; (Uttara Kannada)

(Ranganathittu Wildlife Sanctuary)

D. eored SFsen Tow 4. dnEm (Kodagu)

(Dandeli Wildlife Sanctuary)

69. BNOALROOR (Fey-1) FANT LOTHN BROODT FEPBATRY, BROBAO. (TBed-

2) (Match the properties (List-2) of seaports with cities (List-1).



Jei-1 (IncSrd) (Cities) Tey-2 (Yem womchnd) (Sea

Ports)
220022032 (Mumbai) l. 4020098 wondd (Tidal harbour)
LADT, eRSICD) (Kolkata) 2. ARiRwT Lomy (Natural harbour)

[

«0T220T3ee0 (Visakhapatnam) | 3. 3023 2)0TT2 (A river harbour)

!TF'JF’??“‘

FoCtE (Kandla) 4. =950 woite (Deep harbour)

70. 88 BYNTPYNYY CIRITH 3R SOOD YIILODY ? (Which of the following is

not a tributary of river Krishna?)
a) 3% (Ghataprabha)

b) ST (Malaprabha)

¢) Qe (Bhima)

d) 3% (Bhadra)



71. TREINSD, S%ﬁ@o & ‘3200\36 m%&mm@ TSONPINTD 03T dSNYY FOw
&)db_épﬁ? (Fossils of animals, plants & other microorganisms are found in which

rocks?)
a) & 30T &SN (Plutonic rocks)

b) mox dS8nw (Hydrous rocks)

¢) TRTWOBO3 BN (Metamorphic rocks)

d) @n, nsd (Igneous rocks)

72. BT 5O (N TIORTT'), JeT° 7908 (Fjts° TBORRD") T e 5908
(R SIORTT) V) BIVTRTN 85 FYTOBZNG WTITZONT), WQIRRVAITE,
[020HAX. (The Green Revolution, the White Revolution and the Blue Revolution

are respectively associated with increasing the production of the following)

a) GTOT TOFNW, T W3y wewd (Food grains, milk and fish)

b) STHO & BEYNS, @%%G%ﬁ%ﬁo TonR %ﬁﬁs—‘% 9@ (Vegetables & fruits, oilseeds

and natural gas)

¢) &0 OZN, BEOD 283 & wuEg Wewnsd (Food grains, cotton cloth & woollen

seeds)
d) BT 1HLT, T & FROS WIZNED (Green Manure, Milk & Seafood Products)

73. 83 YBOBPYNYY 03RYTOOT LTITY @& @25% TBRIET AT
B0IR0RCdEE? (Which of the following produces the largest amount of electricity

in India?)

a) %@@Zﬁ%@s (Hydroelectricity)



b)

®or®® (Thermal)

¢) SRZCDT (Nuclear)

d) M9 &) @G (wind and wave)

74. 15¢03 ) 23603 TLIONTY), TRODR BRTEF oFeSTY 20T0W0. (Match the 1st

and 2nd list and write in appropriate notation.)

wei-1 (List-1)

Teg-2 (List-2)

a. UIT 88 dm% & (The largest river in the world) l. 832 (Education)

b. 3T ©& dﬁ;% e (that The largest island in the 2. @-EEF&%OEE‘

world) (Greenland)

c. WITW B t‘ira% Je-200@ (World's largest continent) | 3. £2&% Zono (Pacific
Ocean)

d. 03T 28 d’a% 7onT (The world’s largest ocean) 4.293302597F (Amazon)

75. $RTIT ADFF TTe3FpOTTY 5@@6033 BT [Be: DTN L3eadNYIe SO

BRTNRON Fe30z0N03 w%f:b@gd. FOO FTLTIOS B3 FERVWND mgommg memgd. 3

N

e

T Rl e3eD ReDIN" Y oW )TEI. (In a certain region of India, local




people use the roots of living trees as bridges over streams. These bridges become

stronger with time. These unique “living root bridges” are found here.)
a) HeFowek (Meghalaya)

b) 0o (Jharkhand)

c) &wwe3® wWded (Himachal Pradesh)

d) 30T (Tamil Nadu)

76. FRFRRT [TR)S TENT CIWD TEBNY MOOLT TROT TR BRMTT. (Passes

through which group of countries below the equator?)

a) LIS, 20O, TN WS¢y (Brazil, Zambia, and Malaysia)

b) 3pLoNCIP, st Tene Yordeelesw (Colombia, Kenya and Indonesia)
c) B3BeF, BT TN mée@ (Brazil, Sudan and Malaysia)

d) FZe0RR, HEREQL0IPD Tone faom@e@ (Venezuela, Ethiopia and Indonesia)

77. 2,000 B[R 00D Fed ;0N DTYOS YESONYT. ©N 83 FINT 0IRT HewT
FOOIPNT /B9 (A body is at rest on the surface of the Earth. Which of the following

statement is/are correct?)
a) BRDT BRT [P WTT [0eS TOPFABFLITT (Only weight of the body acts on
it)

b) C3YTe W) BTT eSS FODFATFLRFPOY (No force acts on it)



¢) AFE ﬁ:c@:&@ WOR APV TN WOE FHRTNDHZE (The net upward force

is equal to the net downward force)

d) eI HYIFe BOOIN (All the above are correct)

78. ETRINT SYRTI), FeFL0 D) TFEF TPBLO 83 FINTPYNTY CSPITBI),
2¥3RrdEn? (Which among the following is used to listen and record underwater

sounds?

a) ©9et3T” (Altimeter)

b) BReToT® (SONAR)

¢) %d@cmca" (Hydrophone)

d) cowoc® (RADAR)

79. DT ARPZWOIT FJRNT NN VAW, QOATIN, mmm%ﬁgw BINnY
xo&%ofm (When an object is placed between two parallel mirrors, the number of

images formed will be,)
a) 2

b) 8

c) 32

d) ©To3 (Infinite)



80. 8 SINTYNYE PR TRASRT 3 BRRASERT SPEIS? (Which of

the following performs modulation and demodulation?)
a) YWTN (Satellite)

b) SpcEs® (Modem)

c) BRTFS %wce (Optical Fibre)

d) ©0FE0DT® (Amplifier)

8l. @geedt GSAT ¢OBRABHIZ), ODITHOITN YVTWIF WIRTWEONTY, BT 03T 0630

BNRZ2NT (GSAT was successfully launched recently. It is a,)
a) OFeeT FION WINT (Remote Sensing Satellite)

b) BoRTIT WINE (Communication Satellite)

) NMRFBODF VJNT (Spy Satellite)

d) TS YWINT (Meteorological Satellite)

82. LIGO «0@3 — (LIGO stands for,)

a) Laser Interferometer Gravitational Wave QObservatory
b) Light Interferometer Gravitational Wave Observatory

c¢) Light Induced Gravity Observatory

d) Laser Induced Gaseous Optics



83. efirazﬁe;@s SRS 2PRET® (A mobile phone charger is)
a) QJET (An inverter)

b)

el

T OT° m%mg O° (A step up transformer)

-

(]

el

) A% TR R0 @ T° (A step down transformer)
k)

d) voze* @%@Fce (A simple transformer)

84. 23238 03PFTOODY U-235, w¥men T0ed sodeo. (U-235 used in nuclear

reactor’s the reason behind this one is.)

a) gmw@mﬁd (Self sustainable)

b) ©4QE IRgecd 3§ (High nuclear energy)

c) @32303 3038© &R (Highly reactive substance)

d) YOI VoS (Good fuel)

85. FENIPNTY AT BT3P T BB ©Q. (Which of the following is

NOT an unsaturated hydrocarbon?)
a) ©geS® (Alkane)
b) 89e5" (Alkenes)
c) 84,7 (Alkynes)

d) None of the above.



86. BYNT AOTINYY 03PRTIT %%Cf\.@@@ 5@@5 @90 TNT.(Which of the following

fuel have a highest calorie valve)
a) &ozEIT (Hydrogen)

b) &0T3eS® (Methane)

c) amé@éea@ (Butane)

d) TT%fuae@W (Gasoline)

87. 3ENIFNFY 0303 0ZELERETI), VTITWICONTT), BITHY 2FROTJT.

(Which of the following isotope used to find alcoholic consumption.)
a) oA =59 (ferrus-59)

b) BReR0DFF-24 (Sodium-24)

c) B -60 (Cobalt-60)

d) ©=b3eacko-241 (Amaresium-241)

88. 3 | TYTOT NI, 3B Tty 2 TYTW VYN TTIeR FO3,0300M
TOO3™N  TBRODA — Match the elements in (list 1) with their atomic numbers in (list

2) which they are observed:

1.23) (Zinc) a. 22
2. 203 (Sodium) b. 20
3.30;0) O3 (Calcium) C.11
4.63,;8305,000303° (Titanium) d. 30




a) 1-d, 2-c, 3-b, 4-a
b) 1-c, 2-b, 3-a, 4-d
¢) 1-b, 2—-c, 3-d, 4-a

d) 1-b, 2-c, 3-a, 4-d

89. 83 FENTIPYNEY CIPRYT FOT 2T FHTF FOINFBY. (Which of the following

is not a red color ferrous compound?)
a) 3R, (Cobalt)

b) Qge® (Nickel)

¢) RTF (Cuprous)

d) c3nyTR ©Q (None of the above)

90. FYNT O3S V0 ROF T ToNe BN OFNTTBI), SReTFRROTT. (Which

of the following species exhibits the character between reptiles and aves?)
a) B0HC3PT" (Amphioxus)

b) @6.2)6@ (Dolphin)

C) BOLHIONT® (Amphibian)

d) ©35o3eOex® (Archaeopteris)

91. FINTPNTY 0IPFT WFTW0de0D Twenmy. (Which of the following is not a

hereditary disease?)

a) QOO BT (Night blindness)



b) &HRepO03® (Hemophilia)
¢) 269 BTOWET (Color blindness)

d) @5 20BRERTF (Down syndrome)

92. ATLIONT), BRFIRVA 51, 55,63,79,111, —, —_ (Complete the series

51,55,63,79.111, —, )

a) 121, 135
b) 150, 165

¢) 175, 303

d) 135, 300

93. 2,00 WRTT QACEIFR) 676 3.750.50 SNFT, & BT WIYE F? (If the area of

a square is 676 sq cm, what is the perimeter of the square?)
a) 104 23. F0.50¢ (104 sq cm)

b) 104 Bo.2%¢ (104 cm)
c) 52 F0.80¢ (52 cm)

d) 676 Bo.2¢ (676 cm)

94. BEFORE: BEERFO: TRIBAL:

a) TLRAIB



b) RTLIAB
¢) TLARIB

d) TLRABI

95. 20 =3 ﬁoleao:%da TOAT THTOFS VIPRELOTT B 2t AT THVFINWD
10839 (If the 20 friends shake hands each other. The how many handshakes will be

there in total?)
a) 160

b) 190

c) 20

d) 200

96. 20T GZNWRT TR FREINY VTR 1:2:3 AT, TMOTT BHRT BRI DT

QBNORTINTOBS? (The angles of a triangle are in a ratio 1:2:3. The greatest angle is)
a) 30 degree
b) 60 degree

c) 90 degree

d) 90 degree

97. 2.0m FOATI), A, B 3033 C 3zdemen 10,12 303 15 HOINTY  TZeswon =oa

BONZR[T. 8% RTD 2t FeO FOTVZY [PRWT T OINYY & FOTIIY



B0NZZ3? (A, B and C will complete the work in 10, 12 and 15 days respectively. If

all the three work together, they will finish the work in a matter of days,)
a) 4 days

b) 4 days

c) Sdays

d) 6 days

98. 0y @3 T.V 2,00, 12,000 3o 1ot DDA BT Tmeddmon 300000, NSy
S0RF TRWTYS. STV WITORFIN B T.V 00T, 9000 S, Nen SFeasse [oTEs
BRTEEFMTT STIMT 3¢.3F, F)? (A person buys a T.V for Rs. 12,000 and
spends Rs.3000 for transportation. But unfortunately, he needs to sell the same T.V

for Rs.9000 immediately. What is the percentage loss he faced?)
a) 20%
b) 25%
c) 30%

d) 40%

99. 2017 T &R0 1 J¢ 300680 O0wT BN, TS 2022 T k3mO 1 Je 30eald
03 w90 SNSDT? (Ist January 2017 is Sunday. Then what would be the day on 1st

January 20229)

a) 3QzeT (Saturday)

b) 30800 (Friday)



) O3 (Sunday)

d) Beez0wed (Monday)

100. 2.0z o eI B A, B, C, D, E, F, G D) H 202 8 B3 F e

3, TVTTY mwé-og BNDTPR DVVESTYT. A 03N G DB CTi¢ I DYSTT )
B Fri 360 w0039, Eodd H 308) C S 98w 32 A 03 womenad
DTFICONTD & F3 Y, TBI0DBZI, D 030 G 0 ITWLRNTY STBSODTZ
T3 B o %ésacﬁ WOLINTY BPETVT Q&g)zﬁa ioleéosm o3? (8 friends A, B,
C, D, E, F, G and H are sitting in a round table. A is sitting between G and C and he
is directly opposite F, E is sitting between H and C, and A is second to the right of F,

D is second to the left of G, so who are the two friends sitting on the right side of

B?)

a) DF
b) FA
c) AC

d) GA



